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x + 5
2x2 + 11x− 21

=
A

2x− 3
+

B

x + 7

for some pair of constants (A,B), find A + B.
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6. Circle O is inscribed in equilateral triangle ABC. The
smaller circle is tangent to circle O, to AB, and to BC. Find
the area of the smaller circle given that BC = 6.
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9. We write m ≡ r (mod n) (where m and r are integers and
n is a positive integer) if m = qn + r for some integer q. You
can also think of this as m divided by n leaves a remainder
of r. How many integers k such that 0 ≤ k ≤ 500 satisfy

3k ≡ 4 (mod 7)?
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